Wateen urology exam

Station 1 : fill the following black by the correct answer from the column

the part of the urethra that usually injured by straddle injury bulbar urethra
Imaging study of urethral trauma urethrogram

Main indicator of renal injury hematuria

grade 2 renal injury Injury in cortex less than 1 cm
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Station 2 : according to the picture answer the following questions:

BENIGN PROSTATIC HYPERPLASIA

Bladder

Urine Urine

Normal
prostate

Prostate
enlargement

Urethra

1. what ARE the 2 mechanisms by which BPH cause urinary retention ?
2. What are the diagnostic tests for prostatic CA ?
3. Define th TUR syndrome



Station 3 : according to the picture answer the following questions:

How Erections Occur

Flaccid Erect

- Blood flows in and out through
veins and arteries
- Corpora cavernosa does not expand

- Arteries open and veins close
- Corpora cavernosa expands with blood

corpora
cavernosa

\

corpora
cavernosa
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1. mention 4 types of dry tile dysfunction
2. What are the 6 phases of erection

Station 4: 35 year old female with UTI 3 times within 6 month

1. Diagnosis : recurrent UTI
2. Cause:

3. Management :

Station 5: patient after 2 year of RTA and injury above level of T6 and elevated Cr :

1. Diagnosis : neurogenic bladder:
2. Management : life style modification, oxybutnin




Station 6: matching for the following topic :
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sympathetic effect on bladder
Parasympathetic effects on bladder
Cystometry Definition
Definition of intermittent catheter

Alpha blocker

Beta agonist
Autonomic dysreflxia
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Station 7: 60 year old male with mass in bladder

Diagnosis : bladder ca

Risk factors : smoking , old age , male
What is the next step for management ?
Why ask for Histopathology:
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Station 8: PIC of vesicouretric reflex :

1. Diagnosis :
2. Management:



